D1viSION WITH A REMAINDER II (H - SET 4)

brvision Name:
Time: Score: y—
3269 + 10 = 16 9078 + 3 =
2 3461 + 10 = 1110647 + 4 =
34622 +5 = 1) 39941 =7 =
4 4239 +5 = 19 43986 = 8 =
5 20327 +6 = 200 30764 + 4 =
6 8229 +6 = 2 772 +10 =
N 35985 + 10 = 22) 5526 + 10 =
5 8844 +1 = 23 1750 =5 =
9 14784 =9 = 2 2401 +5 =
1) 7084 + 3 = ) 35267 +4 =
1) 6810 = 10 = 260 67185 7 =
12) 3285 + 10 = ) 302 +1=
13 169 = 5 = 28 13502 = 2 =
1748 =5 = 2) 61518 - 8 =
15 5681 + 10 = 30 51174 +6 =
Mathematics: Division - Level § - Horizontal - Set, 4 2% cul
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